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Fs WH il BB RK AL [ERENp e BRI BASR
1 WM/ E % e PR SCH U 89.6 89.6
2 0 % e PR SCH U 86.2 86.2
3 e 3 % e PR SCH U 84 84
4 W= % e S SCEU 83.4 83.4
5 - % e PR SCH U 78.4 78.4
6 LZ1N % e PR AU 73.2 73.2
1 /RSl % e P AU 88.4 1 89.4
2 ZH % AU 88.2 88.2
3 O % i AU 86.2 86.2
1 Tt e H 8 S T 89.8 1 90.8
2 e % e PSR U 87.4 87.4
3 ERE % e PSR U 86.4 86.4
4 5 % e PR U 85 85
5 CT| % e PSR U 84.4 84.4
6 LW % e PSR U 78.8 78.8
1 Z=BH FH % e ) B U 87.0 87
2 ek % e A B 86.6 86.6
3 B % e 84.8 84.8
4 R 5 SRk y/E BT 84.4 84.4
5 fEnnas % e T BT 80.2 80.2
1 FEHH % e AL S U 91.8 91.8
2 Y % e AR S U 87.0 87
3 J& 4R % e AL S U 82.6 L5 84.1
4 % 3 4 % e AR S U 84.0 84
5 J 585t % e AL S U 81.0 1 82
6 Y % e AL S U 79.6 79.6
1 ENIE = % e AR 87.8 87.8
2 i % e AR 87.2 87.2
3 SRR % e AR 87.2 87.2
4 IR AE % e AR 85.4 1 86.4




Fs e el e v midAs | BREES Y%
5 oS % o AR O 86.2 86.2
6 FER 5 5 AR O 84.4 L5 85.9
7 LX) 5 5 AR O 85.0 85
1 epedl 5 e AR BUA BT 87.6 87.6
2 IIA/e % e AR BUA BT 86.4 1 87.4
3 gk 5 % e P AR BUA HUT 86.6 86.6
4 Eib % e AR BUA BT 85.6 85.6
5 JIHE % o R AR EUR 2 84.6 1 85.6
6 7 % e B ARBUR U 85.4 85.4
7 RN % o R AR R 2O 84.6 84.6
8 5 % e AR BUA HUT 84.2 84.2
9 T % o AR EUR 2O 81 81
1 1 % o 3 S 88.6 88.6
2 E3S'S % o 3 S 87.6 87.6
3 AR R ik % o 3 SR 87.6 87.6
4 BT 5 o 3 S 84.4 1 85.4
5 X1 (W 5 o 3 S 85.0 85
6 AR 5 o 3 S 84.8 84.8
7 T 53 % o 3 S 84.0 84
8 LHE % o 3 SR 84.0 84
9 JEITH 5% e SR U 83.0 83
10 PNt % e b 3 ST 82.8 82.8
11 W % o 3 SR 82.4 82.4
12 T % o 3 S 82.2 82.2
13 =11 E‘S SR 82.2 82.2
14 ik % o 3 S 78.8 78.8
15 TS 5 o 3 SR 78.4 78.4
1 THB % G b EE 89.0 89
2 5 % G b EE 83.6 83.6
3 iR 5% i A T 81.4 81.4
1 (i3 S5 % o R AR U 85.4 85.4
2 itk 5 o R AR U 83.8 83.8




Fs e el e v midAs | BREES Y%
3 FA 5 o R AR U 80.6 80.6
4 EHe % o R AR U 80.4 80.4
1 S5 WG 5 o A O 86.4 86.4
2 GISEl 5 = A O 83.8 83.8
3 TS 5 RS 2T 82.8 82.8
4 i 5 = A O 82.4 82.4
5 VyAis 5% = R E AU 81.2 81.2
6 T4t 5 ERNEE: UL 80.6 80.6
7 e W 5 = A O 80 80
8 T 5 = A O 78.8 78.8
9 B 5 RS 2T 78.4 78.4
10 P I 5 o A O 75.4 75.4
1 FASCHF 5 i AR U 86.2 86.2
2 il 2 5 i AR U 84.4 1 85.4
3 NP g % e SRR T 83.2 83.2
4 Bttt 5 AR U 82.2 1 83.2
5 AR 5 i AR HUT 82.6 82.6
6 S T B % i AR U 82.2 82.2
7 5L &S % e SRR T 80.2 80.2
8 IR B8 e SRR T 79.2 79.2
1 T/h= % P B AR B 87.2 87.2
2 R 'S P B AR B 86.8 86.8
3 & RIA4 % P B AR HU 85.2 85.2
4 3Lk % P B AR HU 82.4 82.4
5 75 % P B AR B 82.2 82.2
1 S % e L B 2 U 85.8 85.8
2 1A % LRSI = S d] 84 84
3 [ e % o0 P L A 83.8 83.8
4 IR % LRSI = 3] 82.2 1 83.2
5 TR % LRV = S d ] 83 83
6 FEAEAE % o0 R B A U 80.6 1 81.6




